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x(x+1)(x+2)(x+

3)+12 ARl sh Wk, () gtel Soiz
o] 4] g 7129

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 +2A4+1=(A+1)=(®)?

® x+3 @ x+2 ® x*+3x+2
@x2+3 ® x2+3x+1

@ x>+ 3x




a<0 9 ), VI - \/[3a)® + (VTBa)? & 7eks] shwt?

@ -10a @ -Ta @—4a @ 2a ® 3a

B

Via? - \/(=3a)? + (V=ba)?

= /(2a)? - \/(=3a)? + (V=5a)?

= —2a - (-3a) + (=5a)

(- a < 09122 24 < 0,-3a > 0,~5a > 0)
= —2a+ 3a—5a = —4a




6. VI2x VI5x V35 =aV7 & W a 9] ZHS F5HH?

@6 @ 15 @ 24 @30 ® 36

2V3x V3x Vb x VB x V7 =307




the AlF2EoA V5842 Zre gol1, Vb =2352 4w, a+b
e

T 0 1 2 3 4

5.0 | 2.345 | 2,347 | 2,349 | 2.352 | 2.354
5.6 12,366 | 2369 2371|2373 |2.375
0.7 12,387 (2,390 | 2,392 | 2,394 | 2,396
5.8 12,408 | 2,410 | 2,412 | 2,415 | 2,417

@ 7.217 @ 7.548 @7.947 @ 8.132 ® 8.492

~EB ~
V5.84 = 2.417
V5.53 = 2.352
. a=2417 ,b =553
s a+b=2417+ 553 = 7.947
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O V2 @ V2-1 ® V2-3
@ V3-1 ®)V3 -2

V75 = 8.-.. o]B 2 A , HEO \75-8 =
5v3 -8 o]t

V48 = 6.--- o|B=Z 7 : FELS VI8 -6
43 -6 oltt.

< f(75) - £(48)
=(5V3-8)—(4V3-6) = V3 -2 o[t}




12, 16— 2% + 4xy - 4y & A5-E5o1H?

@ (x+2y-4)(-x+2y4+4) @ (x-2y+4)°
® (x—2y+4)(x+2y—4) @(x—2y+4)(—x+2y+4)

©® (-x-2y+4)(x+2y+4)

~&B

16— (2~ 4y + 47) =16 - (x- )
= 4% - (x-2y)°
=[44+x-2y)(4-x+2y)




13. 15x7.62-742x15 9] 3re?

@ 55 @ ® 35 @ 15 ® 10

~&B

(£4]) =15 x (7.62 - 7.42)
= 15X (7.6 + 7.4) x (7.6 - 7.4)
=15%x15x%x0.2
=45
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te 2702 WSt 7 A5 a,b ol W5k (a-b-1)* 9 &=

a?-2ab+b*=9, 6ab+2=-4, a>b

@1 @4 ®9 @ 16

® 25

B

a?—-2ab+b% =9, 6ab+2= -4, a>b A
ab=-1,a> +b> =7
(a=b)2=a’>+b*-2ab=T7+2=9
La—-b=3

s(a-b-1)2
=a’+b’>+1-2a+2b-2ab
=74+1-2%x3+2=14




15. 2o 7tz Al27F 42 3x - 1, x - 2y ¢ F-L&HA o Ful7}

3x3 — 7x? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] Z-&HA| 9] =ol&
“FotH?

@x—2 @ x-1 ® x+1

@ x+2 ® 2x+1

~&B

y ol gt WAtz 2 gejstd
)

=-2y(38x* —7x+2) +3x° - Tx* + 2x
= -2y (322 - Tx+2) + x (32® - 7x + 2)
= (x-2y) (3x* - Tx+2)

= (x=2y) B3x-1) (x=2)

w2t Fole x -2 °Jth.




